1. Write the comparative form of the adjectives in bold.

a) Sue's carisn't very big. She wants a bigger car.

b) This house isn’t very modern. | like houses.

c) You're not very tall. Your brother is

d) Bill doesn’t work very hard. | work

e) My chairisn't very comfortable. Your chair is

f) Jil's idea wasn't very good. My idea was

g) My book isn't very heavy. Your book is

2. Look, read and check (v') or cross ( X) .

M)
a) The crocodile’s mouth is bigger than the cheetan’s mouth.

——/

M)
b) The crocodile is faster than the cheetah.

——/
c) The cheetah is fatter than the crocodile.

——/

d) The hippo is heavier than the monkey.

e) The monkey is more intelligent than the hippo.

f) The monkey swims better than the hippo.



2. Complete with the correct comparative form of the
adjectives in brackets.

a) My house is more modern than your house. (modern)

b) English is History. (easy)

c) The gorilla is the monkey. (biQ)
d) Mary is Jack. (infelligent)
e) Daniella dances Mandy. (good)




1. Complete using the correct comparative form of the
adjectives.

a) The rhinois not as colorful as the butterfly. (colorful)
The butterfly is more colorful than the rhino.

b) The hippo is the ostrich. (fast)
c) The monkey is the goirilla. (strong)
d) The crocodile is the snake. (thin)

2. Look and write the correct adjective from the box.

[ fast - colorful - big ]

a) The ostrich isn't as as the parrot.
b) The parrot isn't as as the ostrich.
c) The parrot isn't as as the ostrich.

[ thin - heavy - fat ]

d) The zebra isn't as as the elephant. @A\

e) The elephant isn't as as the zebra.,

f) The zebra isn't as as the elephant.




1. Look and answer.

a) Which is heavier?

b) Which is taller?

c) Which is more colorful?

d) Which is more intelligent?

e) Which is fatter?

f)  Which is thinner?

2. Read and color. Qo

The bananas are more delicious
than the apples for me.



Look and answer.

a) Who is more intelligent in picture 17

b) Who is thinner in picture 2?

c) Who is stronger in picture 37
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One day the animals were playing
soccer in the jungle.
Riuk: I can run faster than you, Tunny.
Tunny : Yes, but Timmy is slower than me.
Timmy : Poor me.
Tunny : | can Jump higher than you, Riuk.
Riuk : Ok, but | can jump higher than
Timmy.

They continued playing, but
the ball got stuck in a tree...

Riuk : What are we going to do?
Tunny: Oh, no!
Timmy: Don't worry guys.
Tunny: You are our hero!
Timmy: I'm good af it.
Riuk : You are better than us at climbing.

2. Read again and write “T” for true or “F” for false.

M)
a) The animals weren’t playing soccer.

\——/

M)
b) Tunny is faster than Riuk.

——/

M
c) Timmy can't jump high.

——/

M)
d) Riuk climbed up the tree.

\——/

M
e) Timmy is a hero for Tunny and Riuk.

——/

M)
f) Inthe end, Timmy is good atf soccer.



Revision]

1. Complete the spaces in blank.

Q) is thinner than

b) isn't as heavy as

C) is smaller than

d) isn't as beautiful as

e) is more modern than

f) isn't as beautiful as

2. Draw two animals and make comparative sentences.




